PRICE LIST
EXPLODED VIEW

©2002 TEAM LOSI, INC.

TEAM LOSI PERFORMANCE

NOT RESPONSIBLE FOR TYPOGRAPHICAL ERRORS

Effective: 10/1/2002

EV=ANT IS

Always Racing Towards The Future.

ALL PRICES SUBJECT TO CHANGE WITHOUT NOTICE

CHOICE OF CHAMPIONS

A-0014
A-1141
A-1205
A-1211

A-1216
A-1232
A-1233
A-1234
A-1540
A-1542
A-2006
A-2127
A-2131
A-2205

A-2228
A-2232
A-2909
A-2911

A-3065
A-3070
A-3097
A-3099
A-3211

A-3213
A-3219
A-3238
A-3239
A-3244
A-3264
A-3265
A-3266

XXX-4 4wd Competition Kit .........ooeoeiiiiiiiieiiiiiiieeres N/A

Pin Set Front Bulkhead (All XX, XX-T,XXX-4) .....ccccceev... $3.00
Front Shock Tower (XXX-4) .....ccooverieiirereeiieeiieseesnens $6.00
Front Suspension Arms(XXX-4) ....ccoooeieiiiiiiieeeeeiiieene $7.50
Front Spindles & Carriers (XX4,SW,XXX-4) ....ccccccerinns $7.00
Front Pivot Support Set (XXX-4) .....cccccveveeiieiiienieennn $6.00
Spindle Carrier Bushings & Hardware (XXX-4) ........... $5.00
Front Hinge Pin Retainers .........ccccooiiieeiiniiiiiee e $3.50
Steering, Servo Saver & Mounts (XXX-S/4) ........cccc.c.... $6.00
Steering & Servo Saver & Mounts (XXX-S/4) ................ $6.00
Swivel Suspension Balls .250” (8) .....vveeeeiiiiierieiiiiiees $4.00
CR’ Rear Hub Spacers (.060”) .......ccerereiieeeiieeaiieeeee $250
Rear Suspension Arms (XX/CR,XX-4,XXX/4) ............... $7.00
Rear Shock TOWEr (XXX-4) ......civuiereeiieiiieesiesinesee e $7.00
Rear Hubs 0 degree Toe-in (All XXX/T/4) ...ccueveeerannnn. $4.00
Rear Inner Pivot Support Set (XXX-S) ...cooeviiiiieeeeninnns $6.00
"Monster Diff* Adjustment Screw & Hardware ............. $4.50

One-Piece Diff Nut Carrier (2) .....cccooceeeeeeeeniiiieeeeeees
Silicone Differential Compound
Transmission Drive Rings (2) .....cccceeue..
Molded Outdrive Set (Pin Drive) ..............
Full Compliment Thrust Bearing Set
Pulley Set- Front/Rear Idler (XXX-S/4)
Main Drive Belt (XXX-4) .....ooiiiieieee e
Motor Mount w/Screws (XX-4, XXX-4)
Topshaft Set w/Hardware (XXX-S)

Belt Tensioner, Post & Hardware (XXX-S)

One-Way/Clicker & Gear Access Plug Set ................... $3.00
Slipper Adjustment Wrench (XXX-4) ....ccccceviiiinnennnnnns $2.50
Slipper Rebuild Kit (XXX-4) ..ocoveiieiieeiee e $8.00

Slipper Hub, Plate & Flange (XXX-4) ......cccccovevveerinnns $15.00

A-3269
A-3958
A-4002
A-4003
A-4004
A-4202
A-4209
A-4210
A-4214
A-4216
A-4219
A-4221
A-4224
A-4240
A-5004
A-5013
A-5015
A-5022
A-5023
A-5029
A-5031
A-5045
A-5046
A-5132
A-5150
A-5224
A-6000
A-6005
A-6006
A-6008
A-6010

Slipper Drive Pulley (XXX-4)
92T 48 Pitch Slipper Spur Gear (XXX-4) ....cccooveeerinnnn.
Antenna Kit
ANtENNA CaAPS ..ooiiiieiiiiii e
SEIVO TAPE (B) +ueveeeeeeiiiiiiiee e et
Main Chassis (XXX-4) ....cccceveveennnnns .
Gear Cover and Screws (XXX-S/4)
Chassis Bottom Cover & Steering Tunnel (XXX-4).......
Front & Rear Diff Cover (XXX-4) ....ocoieiiiiiiiieieeeeiee.
Motor Mount Clamp (XXX-S/4) ...........

Front & Rear Bumper Set (XXX-4)
Body, Wing, & Antenna Mts & Battery Post (XXX-4) .......
Threaded Chassis Inserts (XX4, all XXX)
Battery Strap & Droop Gauge (XXX-S/4) ...............
Shock Shaft .6” .....oiiiiiiie e
Front & Rear Upper Shock Mount Bushings(XXX)........
Double O-Rings Shock Cartridge ..........ccoovieeeeiniineeannnns
ShOCK Shaft 1.2,
Spring Clamps & CUPS (2) «eceeivveeeeeeiiiiieee e
.6" Shock Body Hard Anodized ..........

1.2" Shock Body Hard Anodized ........

PTFE Shock Pistons #57 (Black)
PTFE Shock Pistons #56 (Red) .........cccceevviiiienieiiiiieen.
2” Spring 3.5 Rate (Green)(Buggy Front) ..........ccccceeee.
2.5” Spring 2.3 Rate (Pink)(Off-Road)
Team Losi Certified Shock Fluid 30Wt ...........cccveerneen.
Studded Balls w/Rod Ends 4-40 X 3/8" .........cccceevvveene
H.D. 30-degree Plastic Rod Ends
Ball Studs w/Rod Ends 4-40 X 1/4" (4) .cceveiiieeeieeiiee.
Ball Studs w/Rod Ends 4.40 x .2” (Short Neck) ............
Short Plastic RO ENAS .........ccooiiiiiiiciieeceee e



A-6030
A-6034
A-6035
A-6053
A-6064
A-6066
A-6100
A-6201
A-6204
A-6205
A-6206
A-6210
A-6213
A-6215
A-6216
A-6220
A-6221

Assembly Wrench (Version 2) .......ccccoeiiveeeeiiiiiiieeeene $1.50
Adjustable Threaded L/R Rod Set w/ends (1.375) .... $3.50
Adjustable Threaded L/R Rod Set w/ends(1.625")...... $3.50
Molded Suspension Pivot Balls............cccccoiiiieiiennnis $4.00
Hinge PINS 1/8” X 1.8” (2) «eeiiiiieieee e $3.50
Hinge Pins 1/8” X 2.125” (2) uueeeeiiiiiieee e $3.50
1/8" E-ClIPS iviiiiiieiie ittt $1.25
3mm x 6mm Cap-Head w/Washers (10) ...........ccu...... $3.00
4-40 x 1/2" Cap-Head Screws (10) .....cocceeveeeeiiiiieneenne $1.50
4-40 x 3/4" Cap-Head Screws (10) .....coccveveeeeniiiiieneenne $1.50
4-40 x 3/8" Cap-Head screws (10) .......cccceeeeeniiiieneenn. $1.50
4-40 x 3/8" Flat-Head Screws (10) .......occveeeeeeiiiiieneenne $1.50
4-40 x 1/4" Flat-Head Screws (10) .......occveveeeeiiiiieneenn. $1.25
#4 Narrow Washers (10) ....ccooveiveerieiieesee e $1.25
4-40 x 7/8" Cap-Head screws (10) .....ccceeeeeeiiiiiereeninns $1.50
4-40 x 1/2" Flat-Head Screws (10) ......cccvvereeeiiiieneaananes $1.50
4-40 X 5/8" Cap SCreEWS (6) .vevvvveveerrreevrereesieesieeseeenns $1.50

A-6206—

A-4221
A-4216




A-5046

REAR SHOCK
A-6228 5-40 x 1/8" Hardened Set Screws (10) .......coccvveeeeennnns $1.80
A-6229 4-40 x 3/8" Button-Head Screws (10) .........cccveveeerennnne. $2.00
A-6230 Shim Assortment- 3/32", 3/16", 1/4", 1/2" .......cccceevuernnnn. $2.50
A-6234 4-40 x 1/4" Button-Head SCrews ..........ccccevevrveeeniineennns $2.50
A-6235 Kingpin/Hinge Pin SCreWws .......c.coeeiiiiiiiieeieiiiieee e $4.00
A-6238 3 x 6mm Cap/Button Head Screws w/Washers- motor .. $3.00
A-6245 4-40 x 5/16" Button-Head SCrews ..........cccccovvveenivrenne $2.00
A-6310 8-32 Aluminum LOCKNULS ........covaiiiiaieaieienee e $4.50
A-6903 3/16” x 3/8” Bearings W/Seals .........ccccoeveeiiiiiineeeiannn, $5.50
A-6907 5mmM X 8MM BEANNGS ....ceevvveiiieeieeiie e esee e $6.50
A-6908 1/2"x 3/4" Bearings W/Seals ........ccccceeiuieeeeaniiiiiieeees $14.25
A-6951 3/32” Carbide Balls (12) .......ccovveieeriiiiieiieeiie e $10.95
A-7047 Front “Solid” Wheels (Yellow)(XX-4,XXX-4) ...ccccceeninns $6.00
A-7104 Wide Rear Solid Face Wheels (Yellow)(XX/4,XXX/4).... $6.05
A-7285R 4WD Front Taper-Pin Tires (Red) w/Foam ................. $11.00
A-7372R 2.2" Rear Taper-Pin (Red) w/Foam............. coccoevinenene $12.00
A-8046 “Invader” Buggy Body & Wing (XXX-4) .....cccoeveereernnnns $17.50
A-8114  “Invader” Wing (XXX-4) ......cccouiereaeiaiiieeaeeaiieee e $3.00
A-8200 BOdY ClPS (12) .iuvieiieiiiiieiiiieiie et $1.25
A-8352 XXX-4 Sticker SHEet .......cccouiiiiiiiiiiiciiceee e $3.50
A-9974 CVD Steel Drive Shaft (BUQQY) -..eeeeeieiieiieeeiiiiiiieeeeeis $8.00
A-9975 CVD Steel Front Drive Shaft (XXX-4) ....cccooiiiieeeiinnn. $9.00




NOTE: Descriptions (Models) with a “/" mean Also,
with a “,” mean Or, “All” means All based on that platform

Example: XXX/4 = XXX And XXX-4

A-3095
A-3245
A-3246
A-3247
A-3248
A-3957
A-3959
A-4257
A-5046
A-5047
A-5048
A-5050
A-5054
A-5056
A-5060
A-5062
A-6915
A-7044
A-7045
A-7046
A-7105
A-7140
A-7141

XX-4, XXX-4 = XX-4 Or XXX-4

Molded Outdrive Set (XX/T Bushing, XXX-Spec) .......... $4.00
One-Way Front Drive ASsembly .........ccccooveeiiiiiineeenn. $60.00
One-Way Outdrive Cup w/Drive Pin .......ccccooocieeeeninns $8.00
One-Way Hub w/Bearings - Left .......ccccoviieiiiineen. $27.00
One-Way Hub w/Bearings - Right ..........cccccoiiiiinns $27.00
90T 48 Pitch Slipper Spur Gear (XXX-4) ....ooocvveveeniinnns $3.50
94T 48 Pitch Slipper Spur Gear (XXX-4) ....oocciveveeniinns $3.50
Rear Sway Bar Set (XXX-4) ...ccocvveeiieiieeiiesiaesee s $9.00
PTFE Shock Pistons #56 (Red) .........cccceveevvrerieerneene. $3.00
PTFE Shock Pistons #55 (Orange) .......ccccceeevvverveennnnn $3.00
PTFE Shock Pistons #54 (BIU€) .........ccccvevveiivrereennnnn. $3.00
ShOCK SPACEr St ..viivieiiieiiie et $2.50
.6” Threaded Shock Body Set W/NULS ...........cccceuveeee. $19.95
1.2” Threaded Shock Body Set W/NULS ...........cceeveenns $19.95
.6” Titanium Nitrided Shock Shaft ..........cc.ccooceiieiininns $7.00
1.2” Titanium Nitrided Shock Shaft ............cccoceevenene. $7.00
Ball Bearing Steering Set (XXX-S/4) .......cccccvvvevvernenns $12.00
Front Wheels, 5-Spoke (Natural)(XX-4,XXX-4) ............. $6.00
Front Wheels, 5-Spoke (Yellow)(XX-4,XXX-4) .............. $6.00
Front “Solid” Wheels (Natural)(XX-4,XXX-4) ....ccccccoeuee $6.00
Wide Rear “Solid” Wheels (Natural)(XX-4,XXX/4) ........ $6.00
Rear Wheels, 5-Spoke (Natural) (XX, XXX/4) .....ccccceuee $6.00

Rear Wheels, 5-Spoke (Yellow) (XX, XXX/4) ...ccccoeuveeen. $6.00

Tuning Parts For the XXX-4

A-9605
A-9736
A-9741
A-9749
A-9802
A-9807
A-9808
A-9841
A-9895
A-9896
A-9849
A-9898
A-9919
A-9923
A-9940
A-9945
A-9946
A-9947
A-9968

AR
Always Racing Towards The Future.

Teamlosi, Division of Horizon Hobby inc.,
4710 E. Guasti, Ontario, CA 91761

www.TeamL osi.com / feedback@TeamL osi.com

800-0198

A-2909

A-9974

A-9923
Chassis Protection Material ...........c.cccovvenviiieniinieene, $9.00
Graphite Front Suspension Arms (XXX-4) ......ccccceeuee $11.50
Graphite Front Shock Tower (XXX-4) ......ccoeiiiieeeeninnnns $10.00
Graphite Front Pivot Support Set (XXX-4) ......cccccceeenee. $9.00
‘CR Graphite/Composite Rear Arms (XX/4,XXX/4 ...... $11.50
1 Deg. Rear Hub Set (XXXIT/A) vcovveiieeeeiie e $6.50
2 Deg. Rear Hub Set (XXX/T/4A) cccovviiieeeeeeece e $6.50

Graphite/Composite Rear Shock Tower (XXX-4) ........ $11.50
Graphite/Composite Bottom Cover & St. Tunnel(XXX-4)$8.75
Graphite/Composite Front & Rear Diff Covers(XXX-4)$10.00

Graphite Rear Pivot Support Set (XXX-4) ......ccccoeveeeinne $9.00
Graphite Battery Strap & Droop Gauge ..........cccceeeeeeunne $8.75
Graphite Main Chassis (XXX-4) .....ccccoveeveeiiieaiiennens $49.95
MIP CVD Set for (XX, XX’CR’, Kinwald Edition, XX4)... $30.00
Aluminum Hardcoated Suspension Balls................... $3.95
Titanium Ball Stud with Hex Head .188" ..............cccccvee.. $9.00
Titanium Ball Stud with Hex Head .250" .............cccceveen. $9.00
Titanium Ball Stud with Hex Head .380" .............ccccevenne $9.00
Front CVD Drive Shaft Set ........c.ccccevvveveeiiiccie e $33.00



